FHH :wM7F4R81H

VT2 [E B B B et S R B IR i B 32 55
[EHETE (BRER) ]

=[50 || E &S FHFh

MDEBERIE, DA REBEEUNDEDIEF ZSTIHEN D DI,
AI>O0— RETOIEBEAXITEANCHSITD 1 XRFIBICEDIEDE U,
BEZE(CEANSY [E=EB \DIE®ITA] ZIThHXL\Z &,



1. ¥H4
e 2 R 7 AL B 15 Y o ) SR B A D S S
JEATY5 TR R T ST A (BT | (S SR ET  ONE D)
2. FHNAE
1) FEEFENA B TE 2 7) METW TeE IR
2) FHHA SR ERE T i 8) M X BT - HATER
3) HHE 25865029040003 9) Il - B
4) TRIXSy HUERE (B2 83te) ONER 10) BEHEA B 64124
5) ZHEEL 11) Jst—fEE 0%
6) JEATIIH] 365 A AR T4 44 1R 1.2) HiffiE 4 A BT 28
(441) A 84 3A31H 1.3) i A BT 28
G mEE) = £ A H 14) AlFEAERR F
15) A5 M
ALY e ek

AZEFSL, BN EEFBETIC 31T 2 B SEF E 2 W ED ST T %
TDIT, AR FEEH OB 21T ) Z L2 HE T 2¥EE TH D,

4) FEREMIfEIE
5) DXIRZETHIZ B9 2B

STU A
R

1) FETROESEA - REL

2) TH{EHCBmE 2 XN d6 1T 228 TR DMRPL I OV He TNt 5 il oD 5
3) HFIEATHEBLSINRCBE 2 MBS

B ~OE PG 1K B9 D B RS

3. THEEH

1) THFE

4) HEH

T TR



AR
X g /\ =
¥R | R 7AGTRE R B B S i g LR P BN E TR GBS
H H [EECINGE
IHE - Tfd - FR - 5] Bk L==7va g HAA B BRI, SRR e
B N
= 1 21, 031, 200
[EREINES
= 1 21, 031, 200
TR EHEEHERR
= 1 20, 347, 200
AR EHERHERR 5
A 12 1, 695, 600 20, 347, 200
Ta%
= 1 684, 000
Ted 5
=] 24 28, 500 684, 000
EREEE (O <)
= 1 21, 031, 200
& DOt JFATG
= 7,009, 698
— 1 —

E sz TR R



BEALN
X g /\ =
¥R | R 7AGTRE R B B S i g LR P BN E TR GBS
H H — R PR
IHE - Tfd - FR - 5] Bk L==7va S BAfff B BRI, SRR e
— A
= 1 15, 099, 102
SERSMRE
= 1 43, 140, 000
THEBIAE %8
= 1 4, 314, 000
ERZ LR
= 1 47, 454, 000
— 2 —

E sz TR R



N NAWA Bl 4F A 2025. 02
/j ;'\, ’f ﬂﬂ i% A A A 2025. 02
SRR 1. 000-0000-0000-0000-0000-1-0 0
H 1= TRARREHEEHER o B j
BN A Hom BT
1 1, 695, 600
THH SR - B ESLE HAfL ey AT x| e
AR FHERHER M 15
= 1, 695, 600
1, 695, 600
B
1,695,600 |M,»H
N AW B AR A 2025. 02
/j_\’ E‘ ’f ﬁﬁ i% A AR H 2025. 02
TS AR 1. 000-0000-0000-0000-0000-1-0 0
H 2 Ie58 B - N
BN & B
1 28, 500
HH TR - HiRE 51 BN Yo AT &HA e
(BT g 2 =
= 28, 500
28, 500
HAAT
28,500 |M =]

E sz TR R




AR R ERR

N = i Bl 4F A 2025. 02
2 /j 5Q Ijﬂ :R EEAES | 2025, 02
H = SRR 1. 000-0000-0000-0000-0000-1-0 0
M 1 % AR EHERHER
HH LR - B ESLE HAfL ey AT &4A e
[EEEINGE -
=, 1 1, 695, 600
el (C)
A 39 38, 400 1, 497, 600
RIS
i3 60 3, 300 198, 000
1, 695, 600
= B AR A 2025. 02
e+ 2 Yf;'\: Iji] = R i‘: A 4R A 2025. 02
H = TS AR 1. 000-0000-0000-0000-0000-1-0 0
] 2 EBTAYE
HH TR - HiRE 51 BN Yo HAAT &HA e
[EEC YNG4
= 1 28, 500
Fehh (A)
A 0.5 57, 000 28, 500
28, 500

E sz TR R




	空白ページ



